ITB2211: Information Technology for Business I
Assignment #7 is due on Thursday, November 20, 2014 @ 5 pm
Section A
1.
Convert 527sixteen to binary

(a)
343


(b)
001101000111


(c)
010100100111

(d)
011100100101
2.
Convert 11001010001101012 to hexadecimal.

(a)
121035


(b)
CA35


(c)
53AC1


(d)
530121
3.
Convert 8B3F16 to binary.

(a)
3564


(b)
011010


(c)
1011001111100011


(d)
1000101100111111

4.
Convert 45710 to hexadecimal.

(a)
711


(b)
2C7


(c)
811


(d)
1C9
5.
Convert 73116 to decimal.

(a)
216.4


(b)
985


(c)
3D9


(d)
1841

6.
How many binary digits are required to count to 10010?

(a)
7


(b)
2


(c)
3


(d)
100

7.
What decimal number does 25 represent?

(a)
10


(b)
31


(c)
25


(d)
32

8.
Convert decimal 64 to binary

(a)
01010010

(b)
01000000

(c)
00110110

(d)
01001000
9.
Convert decimal 213 to binary.

(a)
11001101

(b)
11010101

(c)
01111001

(d)
11100011
10.
Convert binary 111111110010 to hexadecimal.

(a)
EE216

(b)
FF216

(c)
2FE16

(d)
FD216
11.
ABC in Hexadecimal is ________ in decimal and _______ in binary

(a)
2478 & 101100010010


(b)
2748 & 101010111100


(c)
7423 & 1100110111


(d)
345 & 100010111

12.
Which of the following is an invalid BCD code?

(a)
0011


(b)
1101


(c)
0101


(d)
1001
13.
How many bits are in an ASCII character?

(a)
16


(b)
8

(c)
7


(d)
4
14.
The ASCII code is


(a)
Number code




(b)
Same as BCD code


(c)
An alphanumeric code


(d)
Seldom used

15.
Which of the following computer coding schemes is the ASCII–8 code, an extended version of ASCII?


(a)
BCD


(b)
ANSI


(c)
EBCDIC


(d)
Unicode

16.
Which of the following computer coding schemes are primarily used by non-IBM computer systems?


(a)
BCD codes


(b)
ANSI codes


(c)
EBCDIC codes


(d)
Unicode codes

17.
Which of the following computer coding schemes is widely adopted as the standard for data communications systems?


(a)
Binary Coded Decimal (BCD)


(b)
American Standard Code for Information Interchange (ASCII)


(c)
Extended Binary Coded Decimal Interchange Code (EBCDIC)

(d)
Unicode Worldwide Character Standard (Unicode)

18.
Which of the following computer coding schemes was developed by International Business Machines (IBM) in the 1950s as an extension of the 6-bit BCD for use mainly on IBM mainframes and IBM-Compatible computer systems?


(a)
ASCII


(b)
ANSI


(c)
EBCDIC


(d)
Unicode

19.
Which of the following computer coding schemes may be adopted as a standard for information interchange throughout the global computer community in order to make international business and communications in all areas easier?


(a)
ASCII


(b)
BCD


(c)
EBCDIC


(d)
Unicode

20.
Which of the following computer coding schemes is a 16-bit encoding system that can represent more than 65,536 different characters?


(a)
ASCII


(b)
BCD


(c)
EBCDIC


(d)
Unicode

21.
The computer code for interchange of information between terminals is


(a)
ASCII





(b)
BCD


(c)
EBCDIC




(d)
Hollerith

22.
The ASCII code is for information interchange by a binary code for


(a)
numbers only


(b)
alphabets only


(c)
alphanumeric and other common symbols


(d)
None of these

23.
A characteristic of the ASCII code is


(a)
its limitation to a maximum of 96 character configuration


(b)
its use of the zone codes 1010, 1011 and 1100


(c)
its independence from Hollerith code


(d)
All of these

24.
The most commonly used standard data code to represent alphabetical, numerical and punctuation characters used in electronic data processing system is called

(a)
ASCII

(b)
EBCDIC

(c)
BCD

(d)
All of above

25.
The key difference between ASCII–8 and EBCDIC is in the bit pattern used to represent certain characters. Which of the following is NOT correct?


(a)
For the zone portion, EBCDIC uses 1111 and ASCII uses 0011

(b)
EBCDIC does not use the same codes as ASCII for the initial 128 characters

(c)
For the 26 letters of the alphabet, ASCII–8 uses 3 different zone combinations

(d)
For the 26 letters of the alphabet, EBCDIC uses 3 different zone combinations

26.
The Unicode coding scheme can represent at least:


(a)
22 different characters


(b)
24 different characters

(c)
28 different characters

(d)
216 different characters
27.
Which of the following is the primary advantage of using the BCD code instead of straight binary coding?


(a)
Fewer bits are required to represent a decimal number with the BCD code

(b)
The relative ease of converting to and from decimal

(c)
BCD codes are easily converted to hexadecimal codes

(d)
BCD codes are easily converted to straight binary codes
28.
How many BCD code bits and how many straight binary bits would be required to represent the decimal number 643?

(a)
12 BCD, 12 binary



(b)
12 BCD, 10 binary

(c)
12 BCD, 9 binary



(d)
16 BCD, 9 binary
29.
Alphanumeric codes should include as a minimum:
(a)
the capacity to represent the alphabet upper- and lowercase characters and the decimal numbers in a straight binary format.

(b)
the capacity to code all possible decimal numbers in a direct octal representation of BCD codes.
(c)
the alphabet upper- and lowercase letters, the decimal digits, the seven punctuation marks, and other characters or symbols.
(d)
the ability to represent decimal numbers greater than 12810 in a straight binary format.
30.
Which of the following is the most widely used alphanumeric code for computer input and output?

(a)
Gray

(b)
ASCII


(c)
Parity

(d)
EBCDIC

31.
What is the minimum number of character blocks required to encode the message?




IN THE BEGINNING?


(a)
12




(b)
14


(c)
16




(d)
17

Section B
32.
(a)
Why are computer codes necessary?

(b)
What advantage(s) does EBCDIC offer over 6-bit BCD?

33.
Encode each of the following decimal number in the XS–3 BCD code:


(i)
5495




(ii)
89567

34.
Decode each of the following, encoded in the XS–3 BCD code:


(i)
0111 1001 1011


(ii)
0110 0011 1011 0111


(iii)
0110 1110 1001 0111 1011

35.
In a certain coding scheme, the letters of the alphabet are stored in consecutive order. If "H" is represented by 1110011, what is the representation of "B" and "P"?
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